
Addition de Cœurs Doux (G)
Quelle est la valeur de chaque cœur doux?

20 + f = 38 m + 69 = 141

72 + g = 149 p + 95 = 139

25 + d = 77 l + 23 = 35

23 + i = 77 k + 97 = 167

90 + c = 151 o + 97 = 136

50 + j = 114 t + 84 = 155

42 + h = 117 n + 45 = 120

43 + e = 72 q + 78 = 172

37 + b = 51 r + 28 = 77

61 + a = 111 s + 19 = 58
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Addition de Cœurs Doux (G) Réponses
Quelle est la valeur de chaque cœur doux?

20 + 18 = 38 72 + 69 = 141

72 + 77 = 149 44 + 95 = 139

25 + 52 = 77 12 + 23 = 35

23 + 54 = 77 70 + 97 = 167

90 + 61 = 151 39 + 97 = 136

50 + 64 = 114 71 + 84 = 155

42 + 75 = 117 75 + 45 = 120

43 + 29 = 72 94 + 78 = 172

37 + 14 = 51 49 + 28 = 77

61 + 50 = 111 39 + 19 = 58
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